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3 14,529,043 14,552,070 23,027
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1. M AHE(2) =232,400,000&

- 18t7] 2,800,000 x47H x1%]|=131,600,000
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- AMME T} 2,696,000 x 108 x23|=53,920,0002
- At3|EX| 1} =97,986,000H
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1%} 2,600,000 x 1299 x 12| =335,400,000
28t7] 2,600,0009 x 124 H x 15| =322,400,000&
1. AR 7| +=Z2SH) 50,0008 x70% x 1347 =17,500,000
1. ARSI =2 2(5H) 250,0008 x70H x 13} 7|=17,500,000
5400
= e R 45,000 52,637 A 7,637
5410
ol = 0| Xt=& 45,000 44,780 220
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Ol = Of Xt 45,000 44,780 220
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OJAFE ™ 7| 0| & Xt = 120,000 116,175 3,825
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ZAAFHEF 2,300,000 x 128 =27,600,000
CAZEEEEE 11,000,0008 x 128 =132,000,000
. Ng8EHEERE 900,0008 x 122 =10,800,000 8
AT EEEERE 900,0008 x 128 =10,800,0008
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